SSC GD 2022
O &

SPECIAL MOCK

PAPER
TARGET 20/20

31d a<l g «1El
_MATHS




=) UPCOMING ONLINE BATCHES

07 DEC 2022

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

December 2022

14 DEC 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

14 DEC 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

ENGLISH

21 DEC 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

& www.mahendras.org e \ 7052477777/7052577777
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The ratio of the number of men and women in a company is 5 : 4. If the
number of men and women increase by 16% and 15%, respectively, then what
will be the new ratio of men and women ?

Tk ShUAT H YT 3T AT shl HEAT T 31U 5 : 4 7| ATS THUT AR Afgetrett
<R TEAT | SHA: 16% 3R 15% oht Tfg BT &, T THUT TR AT SR 14T
FTATA TR =T B2

a) 29:33
b) 29:23
c) 33:29
d) 23:29
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What number must be added to each of the numbers 15, 9 and 5 so that the

resulting numbers may be in a continued proportion ?
AT 15, 9 3T 5 W U Tedeh H h -H1 TEIT NS AT <12 aTieh TRUTHT Ty
AR STuTa W B Weh?

U
~
O W B~ WD
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If the selling price of an article is T 900 and the discount is 40%, then find its

marked price (in ).

TS Teh T T Tshd Hed 900 U § 3R TE 40% &, AT ITehT 3ifehd Wed (B
H) AT hifsmu)

a) 1,200
b) 1,500
¢) 1,600
d) 800
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The value of 3 x4 +3 0f24-3+2x (3-4)x2+6+4of 3 is
3x4+30f24-3+2x3-4)x2+6+40f3, HHATE:
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If the number 6523678pq is divisible by 99, the missing digits p and q are :
qfS TEAT 6523678pq, 99 | AT §, T AT 3w p HAR q FAFE :
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The area of the floor of a cubical room is 192 m®. The length of the longest rod

that can be kept in that room is

Ueh TFTehTY ShAY ok ThIT ShT SISTWheT 192 TTHIET 21 38 hAY H W T |k AT

HaIH el B hl aTs fehaT &2

18 m
22 m
24 m
26 m
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The average weight of 6 persons increases by 1.5 kg when a new person comes in
place of one of them who was weighing 65 kg. What is the weight of the new
person ? 6 S TRAT T 3TET I 1.5 %ﬂTa'c,a'\rlldl 2 I ﬁﬁﬁ@ﬁ@ﬁ-ﬁﬁl‘ﬂiﬁf
TSI 65 TRUT AT, oF TATT U Uekh AAT A T<h AT ATAT 2| U STk kT ToIF {haT 22

a) 66.5kg
b) 74kg
c) 76kg
d) 75.5kg
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By selling an article for ¥254.38, there is a gain of 10.6%. If it is sold for ¥224.25,

then the loss/gain percentage will be

T o ohT 254.38 TUA | 2 WX 10.6% THT SATH BT 81 ATS 3 224.25 TUA | A=A
HATAT &, 7 BT/ Tfara fohra=T grm?

a) loss, 2.5%
b) gain, 2.5%
c) gain, 5%
d) loss, 5%
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Two successive discounts, with the first being 10%, were given on an article
having the marked price of T 7,500. Finally, it was sold for ¥ 5,805. What percent

was the second discount ?

3V Shiteh e, T & agett 10% off, Teh o W 7,500 TU & Sifeha Hed W& TS
off| 31a W, 38 5,805 TUA H <I=AT AT AT TEH P Toha wierora oft?

a) 12%
b) 15%
c) 16%

d) 14%
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A, B and C can complete a work in 60, 30 and 20 days, respectively. In how many
days can A complete the work if he is assisted by B and C together on every fifth
day ?

A, B 3R C T T 1 THAIT: 60, 30 3T 20 &1 H 90 o el 51 A fohaa fear &
T hl O T ThAT &, AT Tedeh Ui 4 B 3R C fireret Sueht agmarar oxd 82

a) 25
b) 30
c) 15
d) 35
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By selling 40 dozen bananas for ¥ 1,440, a man gains 20%. In order to gain 30%,

for how much should he sell 20 dozen bananas ?

40 THT FeA 1,440 TAT W S U Teh AR Rl 20% HT ATH BIAT 21 30% HT ATH

TTH i ok ToTT, IW 20 IS het fohdd U H 99 AR 02

25
30
15
35
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